Day 18 - Intersection after.notebook

March 17, 2016

Questions From Homework
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Related Rates

A man starts jogging north at a rate of 1.5 m/s and a woman starts at the
same point P, at the same time jogging west at a rate of 2 m/s. At what

rate is the distance between the man and the woman increasing one minute
later?

©0 =c.

(Hint: draw a diagram)
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Ship A is 50 km north of Hawaii and sailing towards it (south) at a 10
km/h. At the same time Ship B leaves Hawaii and sails east at 15 km/h.
How fast is the distance between the ships changing 2 hours later?
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Jack is headed south at 60 km/h towards JMH and Jill is headed west
towards the school at 50 km/h. At what rate is the distance between them
closing when Jack is 2 km and Jill is 3 km from the school?

(Hint: draw a diagram)
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